20-6 and 22-6 Wheel Options - Aluminum Black Anodized
Handrim

7/16" Bearing Only

NOTE: This item is not available for the 9000XDT or the 9000XT Recliner Wheel Chairs due to weight
limitations.
NOTE: Wheel Options only available for 9XT models manufactured before 10/12/16. Can be used on ALL
9SL models with 6" Casters.




20-6 and 22-6 Wheel Options - Aluminum Black Anodized

Handrim
7/16" Bearing Only

NOTE: This item is not available for the 9000XDT or the 9000XT Recliner Wheel Chairs due to weight

limitations.

NOTE: Wheel Options only available for 9XT models manufactured before 10/12/16. Can be used on ALL

9SL models with 6" Casters.

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A,B,C | 1037777-NLA | NLA - 20-6 Pneumatic Wheel Options with (6 x 1") 1 1
Lt. Grey Urethane Casters
2 Spacer, Wheel Lock Shoe (2-63/64") 1 2
3 Screw, Set Socket Cup Point (#8-32 x 3/16") 1 4
4 Spacer (5/16 x 7/16 x 1/4") 1 4
5 Bearing, Flange (5/16") 1 4
6 Spacer (5/16 x 7/16 x 15/32") 1 2
7 Screw, Hex Head (5/16-24 x 2-1/4") 1 2
8 Locknut (5/16-24) 1 2
9 Fork and Stem Assembly, Black (6 x 1" Caster) 1 2
10 NLA - Wheel Assembly, Composite, Urethane, Light 1 2
Grey (6" x 1)
11 Wheel Assembly, Composite, Pneumatic (20") 1 2
12 Handrim, Aluminum, 7 PT, Black (34P) (20" Wheel) 1 2
13 Screw, Phillips Pan Head w/ Patch (#10-32 x 1-3/4") 1 14
14 Spacer (1/4 x 11/32 x 15/16") 1 14
1 A,B,C, 1052735 20-6 Pneumatic Wheel Options with (6 x 1") Dk. 1 1
D Grey Urethane Casters
2 Spacer, Wheel Lock Shoe (2-63/64") 1 2
3 Screw, Set Socket Cup Point (#8-32 x 3/16") 1 4
4 Spacer (5/16 x 7/16 x 1/4") 1 4
7 Screw, Hex Head (5/16-24 x 2-1/4") 1 2
8 Locknut (5/16-24) 1 2
9 Fork and Stem Assembly, Black (6 x 1" Caster) 1 2
10 Wheel Assembly, 3 Spoke Urethane w/ Bearings, 1 2
Dark Grey (6" x 1")
11 Wheel Assembly, Composite, Pneumatic (20") 1 2
12 Handrim, Aluminum, 7 PT, Blk Anodized (20" 1 2
Wheel)
13 Screw, Phillips Pan Head w/ Patch (#10-32 x 1-3/4") 1 14
14 Spacer (1/4 x 11/32 x 15/16") 1 14
1 A,B,C | 1037778-NLA | NLA - 22-6 Pneumatic Wheel Options w/ (6 x 1") Lt. 1 1
Grey Urethane Casters
2 Spacer, Wheel Lock Shoe (1-45/64") 1 2
3 Screw, Set Socket Cup Point (#8-32 x 3/16") 1 4
4 Spacer (5/16 x 7/16 x 1/4™) 1 4
5 Bearing, Flange (5/16") 1 4
6 Spacer (5/16 x 7/16 x 15/32") 1 2
7 Screw, Hex Head (5/16-24 x 2-1/4") 1 2
8 Locknut (5/16-24) 1 2
9 Fork and Stem Assembly, Black (6 x 1" Caster) 1 2




20-6 and 22-6 Wheel Options - Aluminum Black Anodized

Handrim
7/16" Bearing Only

NOTE: This item is not available for the 9000XDT or the 9000XT Recliner Wheel Chairs due to weight

limitations.

NOTE: Wheel Options only available for 9XT models manufactured before 10/12/16. Can be used on ALL

9SL models with 6" Casters.

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
10 NLA - Wheel Assembly, Composite, Urethane, Light 1 2
Grey (6" x 1)
11 Wheel Assembly, Composite, Pneumatic (22") 1 2
12 Handrim, Aluminum, 7 PT, Black (34P) (22" Wheel) 1 2
13 Screw, Phillips Pan Head w/ Patch (#10-32 x 1-3/4") 1 14
14 Spacer (1/4 x 11/32 x 15/16") 1 14
1 AB,C 1052736 22-6 Pneumatic Wheel Options with (6 x 1") Dk. 1 1
Grey Urethane Casters
2 Spacer, Wheel Lock Shoe (1-45/64") 1 2
3 Screw, Set Socket Cup Point (#8-32 x 3/16") 1 4
4 Spacer (5/16 x 7/16 x 1/4™) 1 4
5 Bearing, Flange (5/16") 1 4
6 Spacer (5/16 x 7/16 x 15/32") 1 2
7 Screw, Hex Head (5/16-24 x 2-1/4") 1 2
8 Locknut (5/16-24) 1 2
9 Fork and Stem Assembly, Black (6 x 1" Caster) 1 2
10 NLA - Wheel, Urethane (6") 1 2
11 Wheel Assembly, Composite, Pneumatic (22") 1 2
12 Handrim, Aluminum, 7 PT, Blk Anodized (22" 1 2
Wheel)
13 Screw, Phillips Pan Head w/ Patch (#10-32 x 1-3/4") 1 14
14 Spacer (1/4 x 11/32 x 15/16") 1 14
1 AB,C 1064482 20-6 Urethane Wheel Options with (6 x 1") Lt. Grey 1 1
Urethane Casters
2 Spacer, Wheel Lock Shoe (2-63/64") 1 2
3 Screw, Set Socket Cup Point (#8-32 x 3/16") 1 4
4 Spacer (5/16 x 7/16 x 1/4") 1 4
5 Bearing, Flange (5/16") 1 4
6 Spacer (5/16 x 7/16 x 15/32") 1 2
7 Screw, Hex Head (5/16-24 x 2-1/4") 1 2
8 Locknut (5/16-24) 1 2
9 Fork and Stem Assembly, Black (6 x 1" Caster) 1 2
10 NLA - Wheel Assembly, Composite, Urethane, Light 1 2
Grey (6" x 1)
11 Wheel Assembly, Composite, Urethane (20") 1 2
12 Handrim, Aluminum, 7 PT, Blk Anodized (20" 1 2
Wheel)
13 Screw, Phillips Pan Head w/ Patch (#10-32 x 1-3/4") 1 14
14 Spacer (1/4 x 11/32 x 15/16") 1 14
1 AB,C 1064476 20-6 Urethane Wheel Options with (6 x 1") Dk. Grey 1 1
Urethane Casters
2 Spacer, Wheel Lock Shoe (2-63/64") 1 2




20-6 and 22-6 Wheel Options - Aluminum Black Anodized

Handrim
7/16" Bearing Only

NOTE: This item is not available for the 9000XDT or the 9000XT Recliner Wheel Chairs due to weight

limitations.

NOTE: Wheel Options only available for 9XT models manufactured before 10/12/16. Can be used on ALL

9SL models with 6" Casters.

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
3 Screw, Set Socket Cup Point (#8-32 x 3/16") 1 4
4 Spacer (5/16 x 7/16 x 1/4") 1 4
5 Bearing, Flange (5/16") 1 4
6 Spacer (5/16 x 7/16 x 15/32") 1 2
7 Screw, Hex Head (5/16-24 x 2-1/4") 1 2
8 Locknut (5/16-24) 1 2
9 Fork and Stem Assembly, Black (6 x 1" Caster) 1 2
10 NLA - Wheel, Urethane (6") 1 2
11 Wheel Assembly, Composite, Urethane (20") 1 2
12 Handrim, Aluminum, 7 PT, Blk Anodized (20" 1 2
Wheel)
13 Screw, Phillips Pan Head w/ Patch (#10-32 x 1-3/4") 1 14
14 Spacer (1/4 x 11/32 x 15/16") 1 14
1 AB,C 1064483 22-6 Urethane Wheel Options with (6 x 1") Lt. Grey 1 1
Urethane Casters
2 Spacer, Wheel Lock Shoe (1-45/64") 1 2
3 Screw, Set Socket Cup Point (#8-32 x 3/16") 1 4
4 Spacer (5/16 x 7/16 x 1/4") 1 4
5 Bearing, Flange (5/16") 1 4
6 Spacer (5/16 x 7/16 x 15/32") 1 2
8 Locknut (5/16-24) 1 2
9 Fork and Stem Assembly, Black (6 x 1" Caster) 1 2
10 NLA - Wheel Assembly, Composite, Urethane, Light 1 2
Grey (6" x 1)
11 Wheel Assembly, Composite, Urethane (22") 1 2
12 Handrim, Aluminum, 7 PT, Blk Anodized (22" 1 2
Wheel)
13 Screw, Phillips Pan Head w/ Patch (#10-32 x 1-3/4") 1 14
14 Spacer (1/4 x 11/32 x 15/16") 1 14
1 AB,C 1064477 22-6 Urethane Wheel Options with (6 x 1") Dk. Grey 1 1
Urethane Casters
2 Spacer, Wheel Lock Shoe (1-45/64") 1 2
3 Screw, Set Socket Cup Point (#8-32 x 3/16") 1 4
4 Spacer (5/16 x 7/16 x 1/4") 1 4
5 Bearing, Flange (5/16") 1 4
6 Spacer (5/16 x 7/16 x 15/32") 1 2
7 Screw, Hex Head (5/16-24 x 2-1/4") 1 2
8 Locknut (5/16-24) 1 2
9 Fork and Stem Assembly, Black (6 x 1" Caster) 1 2
10 NLA - Wheel, Urethane (6") 1 2
11 Wheel Assembly, Composite, Urethane (22") 1 2




20-6 and 22-6 Wheel Options - Aluminum Black Anodized

Handrim
7/16" Bearing Only

NOTE: This item is not available for the 9000XDT or the 9000XT Recliner Wheel Chairs due to weight

limitations.

NOTE: Wheel Options only available for 9XT models manufactured before 10/12/16. Can be used on ALL

9SL models with 6" Casters.

Quantity Per

Item
Number | Note | Part Number |Description Package | Assembly
12 Handrim, Aluminum, 7 PT, Blk Anodized (22" 1 2
Wheel)
13 Screw, Phillips Pan Head w/ Patch (#10-32 x 1-3/4") 1 14
14 Spacer (1/4 x 11/32 x 15/16") 1 14
NOTE: A -Includes items 2-14.

B - These wheel options can be used in conjunction with Amputee Attachments for 9000SL and 9000XT only.
C - In order to convert the chair to hemi seat-to-floor height, please refer to the seat-to-floor matrix in the price list and/or the

service manual.
D - Item number10 includes the Wheel and Iltems 5 and 6.

As of 8/11/15 Alum. 34P Black Handrims were replaced with Alum. Black Anodized Handrims. NOTE: NOTE: This item is not available
for the 9000XDT or the 9000XT Recliner Wheel Chairs due to weight limitations.
NOTE: Wheel Options only available for 9XT models manufactured before 10/12/16. Can be used on ALL 9SL models with 6" Casters.




